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QUESTION 1

You are running a FAS8200 system with ONTAP 9.5 with a Flash Pool aggregate. You have an SVM root
volume and two volumes (Voll and Vol2).

In this scenario, which two caching technologies would be applied to which volumes? (Choose two.)

A. Flash Pool can be applied to all volumes including the SVM root volume.

B. FlashCache can be applied to all volumes including the SVM root volume.

C. Flash Pool can be applied to all volumes except the SVM root volume.

D. FlashCache can be applied to all volumes except the SVM root volume.

Correct Answer: AB

QUESTION 2

What are three tiering policies that are associated with a FabricPool-enables aggregate? (Choose three.)
A. backup

B. mirror-vault

C. local-only

D. auto

E. snapshot-only

Correct Answer: ADE

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
psmg%2FGUID149A3242-B120-49CB-B712-BDDED53ED25D.html

QUESTION 3

You are creating a CIFS-based SVM, but the SVM cannot join the domain.

In this scenario, which two actions would be helpful in troubleshooting the problem? (Choose two.)
A. Verify that the clocks are synchronized between the SVM and the domain controller.

B. Verify that each node has a data LIF.

C. Verify that the data LIF can access the Active Directory domain controller.

D. Verify that the cluster admin account is used to join the Active Directory.
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Correct Answer: BC

QUESTION 4

A customer installed an ONTAP cluster. The customer wants to provide data access to host computers
and end users.

Which three tasks are required? (Choose three.)

A. Create a Quality of Service (QoS) policy.

B. Create an SVM.

C. Create a LIF.

D. Create an IPspace.

E. Create a volume.

Correct Answer: BCE

QUESTION 5

When you use the default SnapMirror policy during transfer of a data protection SnapMirror relationship, what is
transferred?

A. the Snapshot copy that is created by the transfer process and any existing Snapshot copies
B. the Snapshot copy that is manually created and any existing Snapshot copies

C. the SnapMirror license

D. only the existing Snapshot copies

Correct Answer: A
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